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1. g ud o s T FRA g
qey gar HH A7?

RRC ‘Y9 ¥’ FISNYR 08.12.2013

(1) ogufy wgRa  (2) fasy

(3) TBI (4) o0

Answer — A

2. afew w11 A fagan =1 faame %
fedmd ofd & B 9 | FW B A
FTd 97 RRC'YY <1’ gNYR 08.12.2013

(1) aga‘mfamg (2) wfcred faaR
*3) (4) st faarg

Answer —C




. ‘T qeaa: fRad awfa 272
3 RRC ‘g9 ¥’ oMY 08.12.2013

(1) &9 (2) I
(3) Irefuren (4) IHDIT HeAl
Answer — b

(1) & (2)
(3) T (4)
Answer —c




5. =it It g9 A fea favafasnea
4 315994 forar 9r?
RRC ‘Y4 31’ gISIYR 08.12.2013

(1) derfR¥rem (2) famafren
(3) 7™ (4) ATe=<T
Answer — D

6. 95 & g 9 w9 A 9 W 22

RRC ‘Y4 $1’ goNYR 08.12.2013
(1) gk« (2) u¥Esh ugd

(3) HegRfaEt (4) fAaton

Answer — C




7. S=0a U free Wiae 42
RRC ‘Y4 S)' gOIYY 08.12.2013

Answer — A

8. grfiud & TR J& H

RRC ‘YU ¥’ gIEIIYR 08.12.2013
(1) 29, 7 @i | IO g3l Al

1)

(2) RTOT WAy, 3HaX A URIIA AT A1
(3) 9191 §EIGR, APHER | URIOTT 3T AT
(4) STIH, SRH G | RIS gaIT o

Answer - A




9. WA H¥&hd AHIT J&Ih
‘sreeteArEt’ @t oAl e w2

RRB ‘YU ¥’ 2018

(1) qrfor (2) Sa<d
(3) {Xa™ (4) 944
Answer — A

10. ‘9T Y9 & gfaaga’ fF73 F23 77
RRC ‘Y9 &’ ESNYR 08.12.2013
(1) @t Ra=

(2) HgreH T
(3) WX T ATHIB

(4) q1e1 TTIMER foere

Answer - C




11. Teare H TG <1 & faT 9
TR factd 3 S-G9 GHER-9F
fraren? RRC ‘g9 ¥’ FIYR 08.12.2013

(1) gM=R (2) qaHfa
(3) HEN (4) it
Answer — C

12. qIFFRR TEAHUE (1908 §.) A
-V QA HifawR] miFe 4?2

Answer — D




13. TSW G&hfq &1 =g 38
fFad 8?2 RRC'Iw &' RN 08.12.2013

(1) dre gn (2) BT g
(3) d& g (4) QTHTOT g
Answer — B

Q14.

14. Qg afey | 1025 3. A fFam
ISl 91?7 RRC'YM 3’ = 08.12.2013

(1) AEE TR (2) WERTE M
(3) € @ (4) R <M

Answer — A




“’ ' fegA fe@n?

15 WRRC q & el 08.12.2013
(1) R G
(2) afers AW SAIH

(3) g BTel |

(4) SR ¥ § DS T8l

Answer — A

16. Y1 3R TweTE WOTERt i RO

forem i ?
w;Flnﬂc ‘a9 §' A 08.12.2013

(1) andwee (2) axrefAfeR
(3) IX® (4) gHd

Answer — A




17, 9 &1 48 6 730 917
RRC ‘Y4 4’ faeeh 08.12.2013

(1) 1757 §. (2) 1760 %.
Answer - C

18. a7cig qfew favafaenaa il TmgAn

e =l o2
RRC ‘YU ¥’ fAwen 08.12.2013
Y HIS IEHS W

Answer — A




19, TR Fell fHH A F IHE
Foil-Tedl 91?2
RRC ‘YU 31’ faeell 08.12.2013
(1) 9 @rat (2) T BIA
(3) PITUT BIc (4) 8Y It

Answer — C

20. fFfafea ¥ @ gere & foFg 9= 3
"Eg AT T ST W H STAIR
fRa1? RRC ‘YU SV’ IgHSEIE 08.12.2013

(1) FTRq (2) IMTR
(3) JPR™ (4) XTHSTE
Answer — B

21. forg T a1 H GEEA HHIYE
faieh = & SR IUTHIaeh
I 3T «f?

RRC ‘YU S’ JZHSHEIE 08.12.2013




(1) 91 TR foetd
(2) Tl ATSIId X1

(3) WTRE |
(4) SR H | PIg Tl

Answer — B

22. T 3y v HT Tk A 9 411
RRC ‘JU S’ AgHETEIS 08.12.2013

(1) SR 9Rd (2) gdi WRd
(3) <féyor HRd (4) Heg WIRd
Answer — C

23. yrd faqifedl A 1857 & fagig
Jar f& Sifya o 9?

RRC ‘YU S’ AgHTETE 08.12.2013
1) X @efleE (2) ERER WIaRiE
(3)?ﬂanaﬁ (4) SBIGRIATE THY




Answer — D

24. 39 F AEAHEE B FaH HEUl
e FHfem MYfh U H ... W fas[

ofad o 37  RRB ‘Y9 ¥1'2018

(1) fRER (2) snfsem
(3) ARYEYS (4) 39H
Answer — B

25, s 3 ftis WS & A H
e i 3t ... @l 9H @R H

3I=3 9 WS fFU  RRB'YY 1’2018
(1) <ToTgal (2) $HISAT
(3) R (4) el

Answer — A
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